HIFAE

GPN 300V

WE S5
poeppelmann.com/en/gpn300vs
poeppelmann.com/en/gpn300vn

2@/ RKE ———
|
I
i \ | ).
oC
ITHEHRS
P EHR c H 26 RAE
GPN 300V 011 6.2 8 3010110 9500 3010110 0000
GPN 300V 2 7.2 8 30100029500 3010002 0000
GPN300V3 84 8 30100039500 3010003 0000
GPN 300V 031 86 6.5 30103109500 3010310 0000
GPN 300V 4 9.2 65 30100049500 30100040000
GPN 300V 041 94 6.5 30100419500 30100410000
GPN 300V 5 107 75 30100059500 30100050000
GPN 300V 7 117 9 30100079500 3010007 0000
GPN 300V 9 12.3 9 30100099500 3010009 0000
GPN 300V 091 13 9 30100919500 30100910000
GPN 300V 10 137 10 30100109500 3010010 0000
GPN 300V 11 146 75 30100119500 301 0011 0000
GPN 300V 111 15 10 30101119500 3010111 0000
GPN 300 V112 15 75 3010112 9500 3010112 0000
GPN300V12 156 10 30100129500 3010012 0000
GPN 300V 142 16,5 75 30101429500 3010142 0000
— v . GPN 300V 14 167 75 30100149500 3010014 0000
R R/ RRE GPN 300V 15 171 10.5 30100159500 30100150000
##}: PE-LD GPN 300V 17 184 105 3010017 9500 3010017 0000
GPN300V18 19.3 10.8 30100189500 3010018 0000
GPN 300V 181 214 95 30101819500 30101810000
. GPN 300 V182 217 105 30101829500 3010182 0000
EZHE GPN300V183 196 105 30101839500 30101830000
£ THAE F: 2 R GPN 300V 184 21.2 10 30101849500 30101840000
SMREME, AT PRI GPN300V19 207 10.5 30100199500 3010019 0000
GPN 300V 21 224 11.5 30100219500 3010021 0000
GPN 300V 211 236 12 30102119500 3010211 0000
oA B GPN 300V 22 24 12 30100229500 3010022 0000
. A GPN 300V 23 246 12 30100239500 3010023 0000
E*E*Eg*ﬁff = \LDA‘ 1% ” . GPN 300V 231 245 11 30102319500 30102310000
ISO 162328 E M FFBRIZ 1T 5 4% GPN 300V 232 255 95 30102329500 30102320000
ERETEE. ESELS, 55 GPN 300V 233 26.5 12 30102339500 30102330000
#1207, GPN 300V 24 29 15 30100249500 3010024 0000
= GPN 300V 241 305 15 30102419500 30102410000
GPN 300V 25 32 125 30100259500 30100250000
GPN 300V 26 335 15 30100269500 3010026 0000
GPN 300V 27 348 18 30100279500 3010027 0000
GPN 300V 271 355 18 30102719500 30102710000
. GPN 300V 28 365 18 30100289500 3010028 0000
I inESS GPN 300V 30 384 125 30100309500 3010030 0000
GPN 300526 MFREINE. GPN 300V 301 39 18 30103019500 30103010000
TR S R R GPN 300V 31 40 18 30100319500 30100310000
WMENBTEE AT N o GPN 300V 311 407 18 30103119500 30103110000
GPN 300V 312 423 18 30103129500 3010312 0000
GPN 300V 32 46 21 30100329500 30100320000
GPN 300V 33 485 15 30100339500 3010033 0000
TR GPN 300V 35 515 21 30100359500 30100350000
Lo GPN 300V 37 55 21 30100379500 3010037 0000
& A TFFREELTFERR/INERA GPN 300V 38 55.8 21 30100389500 30100380000
e, GPN 300V 40 58 21 30100409500 3010040 0000
GPN 300V 401 66 215 30104019500 30104010000
GPN 300V 41 71 22 30104109500 3010410 0000
RFEf: X » BXERANIESE, H5 68T
5 AT BT T 517 8834 8: GPN 350, GPN 600,
GPN 615 EaiR e, BEMARER, 15255 124/1251.

POPPELMANN

KAPSTO"®

10.03.2020-cn



HHE

GPN 300

K &

NS FREH
BRI
FRAERLL HIFIREL F&! VE
M35 GPN300F1
M5x05 GPN 300 F 011
M7 GPN 300V 011
M75x1 GPN 300 F 012
M8 M8x1 1/16 GPN300F2  GPN300V2
F#l M9 x1 GPN300F3  GPN300V3
M 10 GPN300F031 GPN 300V 031
M 10 GPN 300 F 0315
M 10 MO9.5x1 1/8 GPN 300 F 032
M10 x 1 1/8 GPN300F4  GPN300V4
M10 x1 GPN300F041 GPN300V 041
M12 M1lx1 GPN 300 F 042
M12 M12x15 GPN300F5  GPN300V5
MI12x1 MI3x15 1/4 GPN300F7  GPN300V7
M 14 M13x 1 1/4 GPN300F9  GPN300V9
I . M135x1 M14x15 GPN300F091 GPN 300V 091
3 2 M15x 1.5 GPN300F10 GPN300V10
M 16 M15x 1 GPN300F11  GPN300VI1l
M16x15 GPN300F111 GPN300V1ll
M16x15 GPN300F112 GPN300V112
M18 M16x 1 3/8 GPN300F12  GPN300V12
M18x 15 GPN300F14  GPN300V14
M17x1 MI18x15 GPN 300 F 141
M17x1 MI18x15 GPN300F142 GPN300V142
M18x15 GPN300F15 GPN300V15
M19 x 1 M 20 x 2 GPN300F17  GPN300V17
M 20 x 1 M21x 2 1/2 GPN300F18 GPN300V18
M 24 M22 x 1 M23x 2 GPN300F181 GPN300V 181
M22x1 GPN300F182 GPN300V182
M 22 M21x15 GPN300F183 GPN300V183
M 24 M22x 1 5/8 GPN300F184 GPN300V184
M22x15 GPN300F19  GPN300V19
M23x 1 M24 x 2 GPN300F21  GPN300V21
M24x1 M25x15 M25x2 GPN300F211 GPN300V 211
M 27 M25x15 GPN300F22 GPN300V22
M25x1 M26x15 M26x2 3/4 GPN300F23  GPN300V23
. M 25 M25x 1 M 26 x 2 GPN300F231 GPN300V23
B M 26 x 1 M27 x 2 GPN300F232 GPN300V 232
YRR AT B EN, BT EmME M 30 M27 x1 M 28 x 2 GPN300F233 GPN300V 233
PG < _ M30x15 GPN300F24  GPN300V24
Ii’z ’ﬁtt\gﬁmj\ 9 %ELJZ%E M31x1 M32 % 2 1 GPN300F241 GPN300V 241
lﬂnﬁ"]ﬂ?@ﬂﬂ'ﬁ%uﬁfxﬁé’\]02§ M32x15 1 GPN 300 F 242
0.8 XK (BURFAMRT) » M 36 M33x15 GPN300F25 GPN300V25
M34x1 M35x2 M36x3 GPN300F26 GPN300V 26
M36x15 GPN300F27 GPN300V27
M 39 M36x 1 M37x2 M38x3 11/8  GPN300F271 GPN300V271
M37 x1 M38x2 M39x3 GPN300F28 GPN300V28
M39x 1 M40 x 2 GPN300F30 GPN300V30
M40 x 1.5 M42 x 3 GPN300F301 GPN 300V 301
M 45 M42x15 M42x2 GPN300F311 GPN300V 311
M45x 3 GPN300F312 GPN300V312
M50 x 4 GPN300F 32
M50 x 2 GPN300F33 GPN300V33
M52 x 1 13/4  GPN300F35 GPN300V35
M56 x 15 GPN300F37 GPN300V37
M 56 x 1 GPN300F38 GPN300V38
M 64 M62 x 4 GPN300F40 GPN300V40
M70 x 4 GPN300F401 GPN 300V 401
M60 x 1.5 GPN 300 F 402
M72x 15 M75 x 4 GPN300F41  GPN300V41
M 90 x 4 GPN 300 F 42
M105 x 3 GPN300F 44
M125 x 2 GPN 300 F 47
M 155 x 3 GPN 300 F 52
M 185 x 3 GPN 300 F 55

« FRIR1ES L5655 VERTESRE6TR
ANARNEESZ A BIREAESEREFRIETNIK.

. POPPELMANN KAPSTO"

10.03.2020-cn



